Maths Homework Y5 Mr Masingiri
Date set: 09.06.22
Date due: 13.06.22
You need to complete both sections

Section 1 - Section 2

Q. Identify the numbers represented below. Round them the nearest tenth and the
nearest whole number.

1. 50 x 2746 = A.

!
o

5.5 5.6

2. = 63 - 122 B.

o] . t h
. o0~ |
3. What is the product of 539 and 28? oL,

.Soﬁ the decimals below into the correct place in the table when rounded to the

4. 89567 + + 47591 - 250000 nearest tenth.

Rounds to 6.7 Rounds to 6.8 { 8.75 ] [ 8.79 ]
5. Whatis 4/5 mul’riplied by 8?2 Write [ 6.68 ] { 6.65 ]
your answer as a mixed number.
[ 6.83 } [ 6.74 ]
i . . .Moving from a smaller to a larger decimal each time, move vertically or horizontally
6. I m Thlnklng Of a number‘, fo travel from start to finish on the grid.
« Itisamultipleof 7 start .
1.607km 1-4% m 2,098m 2.097km 1—=km
«  The sum of the digits = 3 squared M : e
IT .S L::.rcr)\o f 9 qu 1%km 1,601m 2.112km Z%km 2.299km
° 1S <
2,980m 1.399km 25gkm 2,450m 2-pprkm

Finish
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